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A 3x° +5x = a(x—1)* + b(x+1) + c7F x°| T FFA0] He&
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3x2+5x=a(x-1)2+b(x+1)+c

=ax’+ (-2a+b)x+a+b+c
a=3, 2a+b=5,,a+b+c=0
a=3,b=11, c=-14
L a+b-c=28

FAYLH O 2 v PASE Fol= Do,
ool x = 0-& Y

8=2b+c---©
F] x = ~12 P}
-2=4a-+c---©

a=3,b=11, c=-14
T a+b-c=28




4. k2 #tol TAQIO)(2k% - 3k)x — (k + 2)y — (k* — 4)z = 289]
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(2x—2)k? = (Bx+y)k— (2y -4z +28) =0

Lo 2x-2=0,3x+y=0,2y-4z+28 =0
72=2x, y=-3x = 2y—4z+28 = 0°f f4sIHA
x=2,y=-6,z=4

L3x+yt+z=4
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x=2t—-1, y=3t+1

Ol AL ax+ by + 5= 0] HY5HH
a(2t-=1)+bBt+1)+5=0
(2a+3b)t+ (-a+b+5)=0

o] Alo] RE A% o] thste] JHsfof stE=
2a+3b=0---@
—a+b+5=0---Q@

O, @5 dHsto] &4

a=3,b=-2 .. a+b=3+(-2)=1
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7= B@AD:BC*ééJ o|l&
3x+3=2y-2

3x—2y+5=02ax+by+5=0
La=3,b=-2




